Pre-Algebra Name: \LFJ\\

Unit 7 Review

U7L1-2 (8-1 and 8-2)

1. Draw a mapping diagram of the following relations. Then, decide if each relation is a
function and explain why or why not.

a. {(3,5),(47),(48),(,10)} c. {(4,5),(52),(1,-3), (-2, -3), (0, 2)}
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2. Find the solution of each equation for x = -3, 0, and 2. Write each solution as an
ordered pair.

a. y=3x-2 b. y—lx+8
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3. Is each ordered pair a solution to x—2y =3? Write yes or no. Show work

a (3.3 “5 2D =3 b 015 D-a0R) =3
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4. Use the following graphs to find the slopes of each line.
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5. Find the slope of the line through each pair of points.

a. (2,4)and (6, 1) b. (-3,-2)and (3, 2)
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6. A horizontal line has a slope of 7 Q)(D

7. Avertical linehasan __ \ ]\ \_259 &! §Qé slope.

8. What is slope-intercept form? A AANN )(\O

a. Inslope-intercept form, what does m represent?

Q ;
b. In slope-intercept form, what%)es b represent? 9
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9. Use the graph for the following questions.

a. Find the slope of the line. ZL
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b. Find the y-intercept. (write as an ordered pair)
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c. Write an equation of the line in slope-intercept form.
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10. Use y=5x—4 for the following questions.
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a. What is the y-intercept of this line? (Write your answer as an ordered pair.)
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b. What is the slope of this line? Use arrows to show how you

would use the slope to find more points on this line.

(Example: up 1, right 3)
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¢. Graph this line using the slope and y-intercept. #




11. Use 3x—6y =30 for the following questions.

a. Solve this equation for y (put into slope-intercept form).
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b. Graph this equation using the slope and y-intercept.

12. Graph the following special cases.
N _ ,

a. x=-5 b. y=8
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U7L4 (8-4)

13. Write a function to find the number of months depending on the number of years.
Use m(y) to represent the number of months and y to represent the number of years.

(\(\W}\ - \3\5

a. Use your function to find the number of months in 3.25 years.
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14. Write a function to find the total cost of an order if each shirt is $15.99 and shipping
is $7. Use s to represent the number of shirts and #(s) to represent the total cost.

£RQ)= WAy

a. Use your function to find the total cost of 4 shirts.

LA = WAy ¥
=30y




15. Write a function for each table. (Find the slope, find the y-intercept, and write
function). K\A" @\L*L\
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16. Use the graph to write a function for the following line. (2,4
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17. Write a function for a line that has a slope of — ' and y-intercept of 3
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18. Write a function for a line with slope 2 that contains the point (-1, 1). (Find the y-

intercept using slope-intercept form).
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19. Write a function for a line containing the points (-3, -2) and (3, 0).

Slope: 0_\\'3\ —a_ \
2-B - G 2
y-'intercept: -2z - LL%\ ;(\O
Function: ;—_\—’\O s
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U7L5-6 (8-7 and 8-8)

20. Check whether (0, 2) is a solution of each system. Show work.

0-aty =4 praa O
b

x=2y=—4 _\\_ =3x+2
y W= -\ y S

=x+2 - 2x=3
A= =Ox9
m 2=V VO A= 33)
21. Solve the following systems by graphing.

x\D
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{y=x+3 \ / b ‘{x+y=—7
Ix—-y=1 e . x—y=1
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. A bag contains red and blue marbles. (1) There are 20 fewer blue marbles than red
rbles, and (2) twice as many red marbles as blue marbles. Let x = ﬁ red W

and y™>=&# blue marbles.

a. Write a systemof equations (use statement 1 and 2).

e

b. Get both equations mt(:)gope inte
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C.

r system by graphing to find the number of each marble,

23. A grocery store charges $3/Ib for chicken and $5/1b for beef. How many pounds of
each can you buy for less than $15? Write an inequality where x = pounds of chicken

and y = pounds of beef. Then graph your inequality.
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a. From your graph, give two possible combinations of

pounds of meat you could buy.
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